MIAMI-DADE COUNTY, FLORIDA
MIAMI-DADE METRO-DADE FLAGLER BUILDING

COUNTY

BUILDING CODE COMPLIANCE OFFICE (BCCO) 140 WEST FLAGLER STREET, SUITE 1603

PRODUCT CONTROL DIVISION MIAMI, FLORIDA 33130-1563
(305) 375-2901 FAX (305) 375-2908

NOTICE OF ACCEPTANCE (NOA) www.miamidade.gov

MetalTech, Inc.

7635 West 2™ Court

Hialeah, Florida 33014

Scork:

This NOA is being issued under the applicable rules and regulations governing the use of construction materials.
The documentation submitted has been reviewed by Miami-Dade County Product Control Division and accepted
by the Board of Rules and Appeals (BORA) to be used in Miami Dade County and other areas where allowed by
the Authority Having Jurisdiction (AHJ).

This NOA shall not be valid after the expiration date stated below. The Miami-Dade County Product Control
Division (In Miami Dade County) and/or the AHJ (in areas other than Miami Dade County) reserve the right to
have this product or material tested for quality assurance purposes. If this product or material fails to perform in
the accepted manner, the manufacturer will incur the expense of such testing and the AHJ may immediately
revoke, modify, or suspend the use of such product or material within their Jurisdiction. BORA reserves the right
to revoke this acceptance, if it is determined by Miami-Dade County Product Control Division that this product or
material fails to meet the requirements of the applicable building code.

This product is approved as described herein, and has been designed to comply with the High Velocity Hurricane
Zone of the Florida Building Code.

DESCRIPTION: “ Maximum Impact ” Extruded Aluminum Bahama Shutter

APPROVAL DOCUMENT: Drawing No. 06-013, titled “ Maximum Impact Extruded Bahama Shutter ”, sheets
1 through 9 of 9, prepared by Tilteco, Inc., dated February 02, 2006, last revision #1 dated February 02, 2006,
signed and sealed by Walter A. Tillit Jr., P.E., bearing the Miami-Dade County Product Control Revision stamp
with the Notice of Acceptance number and expiration date by the Miami-Dade County Product Control Division.
MISSILE IMPACT RATING: Large and Small Missile Impact

LABELING: Each unit shall bear a permanent label with the manufacturer's name or logo, city, state and the
following statement: "Miami-Dade County Product Control Approved", unless otherwise noted herein.

RENEWAL of this NOA shall be considered after a renewal application has been filed and there has been no
change in the applicable building code negatively affecting the performance of this product.

TERMINATION of this NOA will occur after the expiration date or if there has been a revision or change in the
materials, use, and/or manufacture of the product or process. Misuse of this NOA as an endorsement of any
product, for sales, advertising or any other purposes shall automatically terminate this NOA. Failure to comply
with any section of this NOA shall be cause for termination and removal of NOA.

ADVERTISEMENT: The NOA number preceded by the words Miami-Dade County, Florida, and followed by
the expiration date may be displayed in advertising literature. If any portion of the NOA is displayed, then it shall
be done in its entirety.

INSPECTION: A copy of this entire NOA shall be provided to the user by the manufacturer or its distributors
and shall be available for inspection at the job site at the request of the Building Official.

This NOA revises NOA # 02-0122.04 and consists of this page 1, evidence submitted page E-1 as well as
approval document mentioned above.

The submitted documentation was reviewed by Helmy A. Makar, P.E.

// /. M\/ NOA No 06-0217.04
Expiration Date: 02/24/2007

Jo / o3 /7_ 00b Approval Date: 10/03/2006
Page 1




MetalTech, Inc.

—

N

NOTICE OF ACCEPTANCE: EVIDENCE SUBMITTED

EVIDENCE SUBMITTED UNDER PREVIOUS APPROVAL # 02-0122.04
DRAWINGS
See NOA 98-1228.04

TESTS
See NOA 98-1228.04

CALCULATIONS
See NOA 98-1228.04

MATERIAL CERTIFICATIONS
See NOA 98-1228.04

STATEMENTS
See NOA 98-1228.04

OTHER
NOA 98-1228.04

NEW EVIDENCE SUBMITTED

DRAWINGS

1. Drawing No. 06-013, titled “ Maximum Impact Extruded Bahama Shutter ', sheets
1 through 9 of 9, prepared by Tilteco, Inc., dated February 02, 2006, last revision #1
dated February 02, 2006, signed and sealed by Walter A. Tillit Jr., P.E.

TESTS
1. See Association’s generic approval under 05-0237.

CALCULATIONS
L See Association’s generic approval under 05-0237,

QUALITY ASSURANCE
1L By Miami-Dade County Building Code Compliance Office.

MATERIAL CERTIFICATIONS
1 See Association’s generic approval under 05-0237.

STATEMENTS

1. Letter by Tilteco, Inc., dated February 06, 2006, certifying that the drawing (No.
06-013) prepared for MetalTech, Inc. signed and sealed by Mr. Walter A. Tillit Jr.,
P.E., is engineering wise identical to ASSA generic drawing (No.05-094).

///&**7)4%/&‘\/

Helmy A. Makar, P.E.
Product Control Examiner
NOA No 06-0217.04
Expiration Date: 02/24/2007
Approval Date: 10/03/2006




GENERAL NOTES:

1. EXTRUDED BERTHA BAHAMA SHUTTER SHOWN ON THIS PRODUCT APPROVAL DOCUMENT (P. A. D.)
HAS BEEN VERIFIED FOR COMPLIANCE IN ACCORDANCE WITH THE 2004 EDITION OF THE FLORIDA
BUILDING CODE.

THIS BAHAMA SHUTTER SYSTEM MAY BE INSTALLED AT HIGH VELOCITY HURRICANE ZONES.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1620 OF THE ABOVE MENTIONED CODE.
IN ORDER TO VERIFY THAT ANCHORS ON THIS P.A.D., AS TESTED, WERE NOT OVERSTRESSED, A 33%
INCREASE IN ALLOWABLE LOADS FOR WIND LOADS WAS NOT USED IN THEIR ANALYSIS. HOWEVER, FOR
lé/l%:gci\(/,‘ggws INTO WOOD, A 1.60 WIND LOAD DURATION FACTOR WAS USED TO CALCULATE SCREWS

EXTRUDED BERTHA BAHAMA SHUTTER'S ADEQUACY FOR HAS BEEN VERIFIED IN ACCORDANCE WITH
SECTION 1609.1.4 OF THE ABOVE MENTIONED CODE AS PER ATL REPORTS #0923.01—97 AND
#0309.01-04 AS PER PROTOCOLS TAS—201, TAS—-202 AND TAS-203.

2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063~T6é ALLOY AND TEMPER, WITH
Fy = 25.0 ksi MINIMUM (UNLESS OTHERWISE NOTED).

3. ‘ALL SCREWS TO BE STAINLESS STEEL 304 OR 316 SERIES W/ 50 ksi YIELD STRENGTH AND 90
ksi TENSILE STRENGTH OR CQORROSION RESISTANT COATED CARBON STEEL AS PER DIN 50018.

4. BOLTS TO BE ALUMINUM ASSOCIATION 2024-T4 ALLOY AND TEMPER, ASTM A-307 GALVANIZED
STEEL, OR AIS| 304 SERIES STAINLESS STEEL WITH 36 ksi MINIMUM YIELD STRENGTH.

5. ALL ALUMINUM POP RIVETS TO BE 5052 ALUMINUM ALLOY WITH ALUMINUM MANDREL.

6. ANCHORS TO WALL SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED)

(A) TO EXISTING POURED CONCRETE: (Min. f'c=3145 p.s.i.)

—1/4” 8 TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.

- 1/4" @ x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENERS, INC.

NOTES: .
A.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE IS 1 1/2"

A.2) CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE POURED CONCRETE. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED.

1/4" #—-20 SCREWS USED SHALL BE 1 1/2" LONG MINIMUM SHOULD STUCCO EXIST AND 1"
MINIMUM FOR WALLS WITH NO STUCCO.

A.3) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE
EXISTING WALL OR FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE
BEHIND SUCH PANELS. ANCHORAGE SHALL BE AS INDICATED ON NOTES A1) & A.2) ABOVE.

(B) TO EXISTING CONCRETE BLOCK WALL:
- 1/4 : @ TAPCON ANCHORS AS MANUFACTURED BY I.T.W. BUILDEX.
- 1/4" 8 x 7/8" CALK—IN ANCHORS AS MANUFACTURED BY THE POWERS FASTENERS, INC.

NOTES:

B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4".

B.2) CALK—IN ANCHORS SHALL BE ENTIRELY EMBEDDED INTO THE CONCRETE BLOCK UNIT. NO
EMBEDMENT INTO STUCCO SHALL BE PERMITTED. 1/4” #—20 SCREWS USED SHALL BE 1 1/2" LONG
MINIMUM SHOULD STUCCO EXIST AND 1" MINIMUM FOR WALLS WITH NO STUCCO.

PRODUCT REVISED

as eomplying with the Florida
Buiding Code

e N@Qﬂéﬂ- o2/7. 04

Exié;/iem Date_ 0T/ Pa 07
By (/K‘ﬂ

Miani DadfProduct Contrel

Division

e A A S s

B.3) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING
WALL, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

ANCHORAGE SHALL BE AS INDICATED ON NOTES B.1) & B.2) ABOVE.

(C) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND
SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

7. EACH SHUTTER SHALL HAVE A LEGIBLE AND READILY VISIBLE MARKING INSTRUCTING OWNER OR
TENANT TO SECURE SHUTTER WITH SIDE & SILL BRACKETS DURING PERIODS OF HURRICANE
WARNINGS.

8. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE
STRUCTURE WHERE SHUTTER IS TO BE ATTACHED TO INSURE PROPER ANCHORAGE. CONTRACTOR TO
SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN PERMANENT AND CONTINUOUS 1
CONTACT WITH THE BUILDING TO PREVENT WIND/RAIN INTRUSION. CAULK AND SEAL SHUTTER TRACKS:
ALL AROUND FULL LENGTH. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR
WOOD FRAME BUILDINGS.

9. EXTRUDED BERTHA BAHAMA SHUTTER'S INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN
THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS PROVIDED BY THE JURISDICTION
WHERE PERMIT IS APPLIED TO.

10. (a) THIS P.A.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE
INFORMATION FOR A SITE SPECIFIC PROJECT: i.e. WHERE THE SITE CONDITIONS DEVIATE FROM THE

P.A.D.

(b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING
LIFE SAFETY OF THIS PRODUCT, BASED ON THIS P.A.D., PROVIDED HE/SHE DOES NOT DEVIATE
FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION SAFETY AT SITE IS THE

CONTRACTOR'’S RESPONSIBILITY.
(c) THIS P.A.D. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A FLORIDA REGISTERED ENGINEER OR
ARCHITECT WHICH WILL BECOME THE ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO
WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.A.D. ENGINEER OF RECORD, ACTING AS A
DELEGATED ENGINEER TO THE P.A.D. ENGINEER SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC
DRAWINGS FOR REVIEW. '

(e) THIS P.A.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL
ENGINEER OF RECORD THAT PREPARED IT.

11. SHUTTER'S MANUFACTURER LABEL SHALL BE PLACED ON THE EXPOSED SURFACE OF THE

BAHAMA FRAME € OR © .

ONE LABEL SHALL BE PLACED FOR EVERY OPENING. LABEL SHALL READ AS FOLLOWS:
METALTECH, INC.

HIALEAH, FL.

MIAMI—-DADE COUNTY PRODUCT CONTROL APPROVED.

F.B.C.(Hiah Veiocity Hurricane Zone)

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER

DRAWN BY:

ASSA/EXTRUDED BERTHA BAMAMA SHUTTER S.M.
I'LIECOINC . 2{71'7‘/7_2_6
TILLIT TESTING & ENGINEERING COMFANY M ET ALI EEH INC
W 9 A 66 b [} .
- o8 NWFMM”M.: s(gws}:;’ieswwm::: :%!%? Hr EST.1957 7638 W, s(ecor;o )c‘r. HIALEAH, FL 33014 0 5— 0 7 3
EB-0006719 (ASSA J26)
WALTER A. THLUT Jr., P. E. EHONE: =4604,_FAX. (309)626-7970 DRAWING No

FLORIDA Lic. ¥ 44167 REV. Ne DESCRPTION DATE Y, No DESCRIPTION DATE

1 oL 98-304 2/2/06 3 - -

© 2004 TILTECO INC. 2 - = - SHEET 1 OF 9




1.562™

11607

N
365~
—1.190"

REGULAR INTERIOR MULLION

6005-T5 Alum. ALLOY
SCALE: 1/2” = 1"

n f—1.322" —

N

M.062" -~ 4597

[y £
o g Ly
Q >
R 8
N =
080" ] l—.080"

E) BAHAMA MALE TOP FRAME

SCALE: 1/2” = 1”

2.500" , @
782"~ fei|i. 120" jj
e e P r l:h T
T &
YRR L
223 r Togn
LL (4 g e qt 1]
e
1. 190° 1

@ HEAVY INTERIOR MULLION

6005-T5 Alum. ALLOY

*

3 ‘§ —{le.088" ,;'5
T &
Tl

K
[+
8 e
.‘3"0‘
«—1.959“——4 ‘F_
Q,
2.37¢" [ S\

FEMALE HINGE

SCALE: 1/2" = 1”7

SCALE: 1/2" =
080"~ ~j—080"
:'3 F;.raJ'A] :§ ":"% %
Y ) % ]
I g____.i N % —-|=‘~.27o 'y
. i —d 3
P SN
e T
8 (062"
b k1322

(F) SNAP_CAP
SCALE: 1/27 = 1™

HOLES ARE OPTIONAL

(6) BAHAMA_FRAME

SCALE: 1/2" =

7"

(J) SHUTTER BLADE
"

SCALE: 1/2" =

SCALE: 1/2" = 1"

e I r
‘;f,P ,L 202 ‘
3 -
’ — é:) (a—) d
: — a—) (—
. # f— —> -
8
- § §
< M & LI :'{3”\
& R& Té
g : C%) (—" —
- : T8 £ o' — -
§ doror~i— 3 N -~] L(Tma)
72
! u"‘" ) ! o 1.000"
1.125"— (1vp.)
:J L:D -
() HALE _SHUTTER , ;Er_*v — (—
BLADE L ! ] (c— -
SCALE: 1/2" = 1”7 § —Hap 4
;g _I —=il=—.070"
! f
1, 125" =

SHUTTER BLADE ELEVATION

085"~ |— r=—.085"
y 8
E T - ——.270'?,3
L .
T 2
| —lsset—
= 1322
G1) ALTERNATE BAHAMA
FRAME

SCALE: 1/2" = 17

J.000"

187"} f-

3.000"

o

© BUILD-OUT

Alum. BRACKET
7" LONG

SCALE: 1/2" = 1"

©

2.906"
3.311°

gov

1” B. 0. FEMALE HINGE

SCALE: 1/2" = 1"

-1 ’——-.7&7"

2.000"

—~f 1877

o

L—z. 000"~——’I
(H) CORNER KEY

1" LONG
SCALE: 1/2" = 17

50"

4.000"

2.000"

— |~.250"
®) BUILD-0UT
SIDE _BRACKET

7" LONG
SCALE: 1/2” =

COMPONENTS

F.B.C.

i e
R.3
I
3 A
= 2
) ||
2.969 { Be.
3.374"

(D) FLAT FEMALE HINGE

SCALE: 1/2” = 1”

I——r.soo"——l \

— 1

2.000"
1a7"—

—.187"

—

N) WALL MOUNT

Alum. BRACKET
7" LONG
SCALE: 1/2” = 17

[ 125"

*1

3.000"

IR E S —" |

I——I.DOO"——I

]
A
=

@ SILL ANGLE

SCALE: 7/2

(High V eloczty Hurricone Zone)

<y o,

V" /OA»

/TitlEcom:. \

T TESTING & ENGINEERING COMPANY
ORIDA 33166}

6355 MW, .mn St, Ste. J05, WRGIIA CARDENS, FL

T (305)871~1530 . Fox : (03)871~1331
EG--Q006719

WALTER A. TILLIT Jr., P. E.

FLORIDA Lic. # 44167

© 2004 TLTECO INC. Y

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN BY:
ASSA/EXTRUDED BERTHA BAHAMA SHUTTER S.M.
oSy, 2/2/06
14 DATE
i IWETALIEL'H INL.
EST.1957 7933 W. s(‘:;“ov;?a)cr H::::H FL 33014 06-~013
V. Ne DESCRATION w: m lh 2ESCRPTION DATE DRAWING No
. L L] . = =} swEeT 2 OF 9




- E. D.
C/4 OR D/4 OR E/4 & OR C/4 OR D/4 OR E/4 -
pereom ot B wc) P i SN AR meme D@ |EEHGET | o,
D20 Q=0 J©.® ©q D=0 gz
° = ’ = ° 2 | ° D@ i
\ ]/ | 7
\ / [ == T
®+© ' % - OR| @D ] »
OR @\ /7 %uos’;:(% Rﬁ;nggt;g_ AT I[ (1){10 ! 1[/2@3/ F \
AN, A x
7 (SEE SCHEDULE FOR ] (2) 1747 8-20 RMNUTS W/
D AT l[ // REQUIREMENTS) II R o % GoRD or 6D (2; 1;: J;g:é_l Ziéfh, CZELY
i A TN,
SIDES (SEE i ANorR (A2 __/ J OR@ 2’14 2 Tg;o; ] 7Zr/2 S.S.
s ——
REQUIREMENTS) F0i Lo T o ™ SEE-DETALHE— @ y4 — | (1ye. AT ExCH BRACKET)
INSTALLATIONS FOR REOUIREMENTS? / . 3 L \-|=~.  OUT SIDE BRACKET SECTION A—-A
- / <Ml @ SRR > e} \~" FOR TRAPPED i )
e 7/ N V5 A N \  INSTALLATIONS (WALL MOUNT) SCALE : 3/8" = 1
- s S e [ LA 1
——elfi % [/ ol o |7 ly N I 110 {: s [ e
I a g -
L4 = ' BB | o oo,
?\: L sHeer § oF 8) - ~[1] Riatmd
e = AR A % 7 J
L 7 ALED = N 1
N [ f or B | & A AT o Ay =
T - / / // S| SOR B OR B > (1 4
/7 L/ , ~—W) or (P
7 / Gite ¥ Zc“{[?"
o - 7/ i el . = ORI B i it T
Pol A\ ~ / — — — [l vl N N 0 3° 0. C. VERTICALLY
P = N 1 el , W7 192° EDGE DISTANGE
21 \ /L / [l ol \ ol = OR (2) 410 x 1 1/2" 58.
I S - | - i } L1 T == S.M.S. TOP & BOTTOM
o o E' @-}-@ E ] \\lo __ul o o of / o o o] L@.}.@lo | OR@ "":] L (Tvp. AT EACH BRACKET)
&LTERN(%WE ﬂ]pc/4 OR DiR @ Y2 OR@ @OR &ng%nggmm [I[I’ ¥ OR/@ v F SECTION B—-B
oR 4 OR E/4 C/4 OR D/4 OR E/4 .
e TRACKET W seE SCHEDULE W SEE SCHEDULE W SEE SCHEDULE —— BRACKET LOCATION W SEE SCHEDULE Y0 lou o0R €D (BUILD-OUT) SCALE : 3/8" = 17
UNLIMITED WIDTH SEE DETAIL (D) OR @ OTE
(2) 1/4" 6=20 x 2" S8, E D =3 1/2" Min.
MULTIPLE UNIT ELEVA T/_ONS SINGLE UNIT us. iy 776" 1 372" ©) or G
" VERTICALLY W/ 1/2 EDG'E
4) 3/16% Alum, N. TS
B o @D @2 10 21 3/2" sus. on (T) GoTE T 4
FRONT/REAR \ oR @ Tp. (110 x 1 1/2° SMS.

PRODUCT REVESES‘B

S — O L | —— Z T

LK : IPTHI'": EACH CORNER.
11 It~
g

(3) CALK~IN ANCHORS

_ " Gz s o
| (0410 x 3/4" SMS. @ OR@ Ry 7/

7,

7

]
+ @ (1)#10 x 1_1/2" S.S.

/ ~ !M iaE :1)1 iﬁéo " "4‘ ﬁﬂﬁﬁ&ﬂ @ﬁﬁiﬂ
S.M.S. TO (:)a‘i@ _/
@/‘

Division
%——L POURED CONCRETE -
e 1 == ; OR CONCRETE BLOCK
T 1 (1)F10 x 3/4" S.M.S. SECTION A 1 — A ]

Q
/ o YREQUIRED
(FLOOR/CEILING MOUNT) % “

} SCALE: 3/8” = 17
W/ WEB NO : . . .
" gswgr;? fg’ﬁﬁm I (3 auK-n ancions F.B.C.(High Veiocity Hurricane &one)
= = = = . EA. BRACKET,
1 ¢ HEAD AND SILL » \ig - e / MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN BY:
;7)[70 x 3* SMS. w/ WASHER . ASSA/EXTRUDED BERTHA BAMAMA SHUTTER S.M.
e TOF & BOTTOM / ﬁ \ "
N oR J)‘noEA,‘( B(R;g;’:j,us IL E c o INC o __L' N 2{;/72-6
() C) P TILLIT TEsrmc & ENGINEERING COMPANY w1 IM I
| 3 " i i » N | 6385 M. Join S, Ste. 305, WGNA GARDINS, FLONTA 33 bkt ETAL EEH' INLC.
-1-/2_ 3 1/2"' :1/2" J 3 1/2‘;'1 - f___:;@b (WE'B—JSZ,O&’;;Q (305)871~1831 EST.1857 7635 W. s{:scsfl;?a)m HIALEAH, FL 33014 06-013
_QE__T/A_/_L_J = = WALTER A. TILLIT Jr., F. E. LN (3003808 A (OO0 TR —=1  DRAWING No

/7 S 9 FLORIDA Lic. § 44167 UL T 2 “";"'
; ™ Y] = "
7 7 © 2004 TLTECO INC. : ~ = 3 - =

SCALE : 1/2" = 1" SHEET 3 OF 9




POURED CONCRETE
REQUIRED

TAPCON ANCHORS
(SEE _SCHEDULE ON

SHEET 9 OF 9) _—l

-

I

2\

N

1/2"

m
©

EXISTING GLASS

ALTERNATIVE LOCATION
R ©

£ (1) 3/8" POWER

O BOLT W/ 1 1/2" Min.
S “.  EMBEDMENT TO
¢ \ POURED CONCRETE
| REGD.

(1) 3/8" POWER agLr—/
ANCHOR W/ 1 1/2

Min. EMBEDMENT' 7O
POURED OR CONCRETE
BLOCK WALL.

EXISTING

3
1/4" 9-20 THUMS SCREW
1/4" 0-20 BOLT W/NUT

SECTION C — C (waLL mOUNT)

NON HURRICANE POSITION (74 m.p.h.
ALTERNATIVE LOCATION

| SCALE: 3/8" = 1”
J
v —
I > For @
| O (1) TAPCON ANCHOR
L, AN 70 POURED CONCRETE
N REQ'D.

EXISTING GLASS

(2) 3/16"8 Alum.
POF RIVETS

1/4" @-20 BOLT W/NUT

C1=
—_7 W

(1) 3/8" POWER BOLT /. (Lo excr aams \'\

1 1/2" Min. EMBEDMENT fodition” N\

TO POURED CONCRETE

BLOCK WALL. 1/4* a-20 THUMB SCREW ALTERN,

1/4" $-20 BOLT W/NUT

2" x J” Max. x .125"

SECTION € - C

HURRICANE POSITION
SCALE: 3/8" = 1"

(WALL MOUNT)

.050™(Typ.)

R
Q

775
(K) .825” SERRATED Tugte (L)
INSIDE ARM

6063-T6 ALLOY
SCALE : 3/8" = 1”

NOTE:
E D. =3 1/2" Min,

SECTION D - D

HURRICANE POSITION

SCALE: 3/8" = 1"

.049"(Typ.)

"1.000"

OUTSIDE ARM
6083~T& ALLOY

SCALE : 3/8" = 1”

CTION _C’ — (WALL MOUNT)

NON HURRRICANE POSITION SCALE: 3/8" = 1"

"% L7 o

SECTION E - E
HURRICANE POSITION
SCALE: 3/8" = 1"

(BUILD—-OUT)

, 085" .125”
| 5 %l g

L : § }_0- ~°

gt N

L.?ZO_"—I ;'Qg 1——7.750"—-—'
(M) CAMEL BACK HINGE
3003-H14 Alum. ALLOY
SCALE : 3/8" = 1~

-
N
2

—1

Cont. Alum. B. 0. TUBE (1)f14 x 3747
POURED CONCRETE POURED CONCRETE Cont (6063-T6 ALLOY) ——>FH—— SMS. @ 6" 0C.
REQUIRED B) cont.  REQUIRED . POURED CONCRETE Cont
*\ REQUIRED anl.
TAPCON ANCHORS TAPCON ANCHORS — \ TAPCON ANCHORS 4
CA F) o G TiG 2 B 7%
Cont.  SHi SHEET 9 OF 8 \ =
+ _\x h — 4 & H Cont. ) TN Ay Uy Cont.
Cyet= 3t E»_.__‘.)_J O _ 1 <-J
f T A Cont. X .Q \ Cant.
w N =
> (| Cont. AN ~
E D /© ED" = = E D T
= S \
T i 3 "
l /4" EXISTING | —i 1 316" | 3 3718
| ouss—\i |
{ I : EXISTING GLASS
| | e
i’s&' SCHEDULE ON —| SEE SCHEDULE ON — I————s&' SCHEDULE ON ~———!
SHEET 9 OF @ FOR Min. SHEET 9 OF 9 FOR Min. SHEET 9 OF 9 FOR Min.
| SEPARATION TO GLASS \® or @co,,t, | SEPARATION TO GLASS \@ oR @ Cont. | SEPARATION TO GLASS \® OR @
| | Cont.
1 \/L _\/\; L \/\ S 1 ‘/\ I
, i * T i * , I ¥
GLASS l |
Cont.
N ~ :) | oot I /—@ Cont.
| |
| | |
[ I
| ALTERNATIVE LOCATION
@ | FOR @ D
I OR : OR @ | Cont OR Cont
E Cont. Cont. I Cont. Cont. | ' '
/ | {
/ / |
W) or @) e < ) e
e X S N ———@ Cont.
W POURED E D. ¢ ! \
POLRED CONCRETE R CONCRETE oh Cant. N e N
OR OR CONCRETE E D / =
CONCRETE BLOCK N Cont. BLOCK u ! / ¥ Y
REQUIRED | _ 240 & REQUIRED 7z X e gﬂngAé AICVCHORS Y E__1§ [ (3410 x 1 1/2" SMS.
e H — i M - _\/ n . 1% % 1° x .125" Cont. Alum.
7 ’ (110 x 1 1/2" SMS. CE=C -h (3410 x 1 1/2" SM.S. ¢ . iy CLOSURE ANGLE (6063—T6 ALLOY)
(3410 x 1 1/2" SMS. v === ALLOY) W/ 3/16" @ Alum.
i / POURED CONCRETE 7 J POP RVET @ 12" 0.C. T0(© OR &)
'J) CALK—~IN ANCHOR, w g . OR N 2) 1/4" 6-20 x 1" SIDE WALK
CALK—IN ANCHORS /BRACKET. / gSi'E SCHEgULE 0'3 SS'{EBERTAC’:KL;;_ 9) 1" x 1" x 1257 Cont, CONCRETE BLOCK / > gou'g INTO (2) (g;." a~20
(SEE SCHEDULE ON SHEET § OF 9) ?ggg} f#ga‘z’zg);;’“ﬁ‘-f REQUIRED - RIVNUTS EACH
]
3/16" @ Alum. POP RIVET 2" x 3" Mox. x .125% . \
= @ 12" 0C. TOB®ORED ; . B. 0. TUBE \ R
© ey o 1B / (1)F14 x 3/4" SMS.

(BUILD-OUT)

PRODULCT REVISED

F.B.C.(High Weiocity Hurricone &one)

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN BY:
ASSA/EXTRUDED BERTHA BAHAMA SHUTTER SM.
|IL|ECO INC. - 27206
TILLIT TESTING & ENGINEERING COMPANY M-—_—r'
6355 NW. Joth, St, Sle. 305, VIRGMA GARDENS, FLORIDA 13166 bael ETAL EEH' INE-
Phona ; (303)871~1530 . Fox ; (J05)871-153} EST.19%7 7035 W. SECOND CT. HIALEAH, FL 33014 06—013
TEREB—%OOGJ?IQ P. E P z 2.3- SG?‘ Iﬂﬂ) 305)826-7979 DRAWING N
WALTER A. TLLIT Jr., P. E. LHONE, (J05/823~4601, X, (J03)820-7975 o
FLORIDA Lic. § 44167 Y. Yo m 2;% W;* DESCRIETION [
7 - p-
© 2004 TLTECO INC. r = = - ——i SHEET 4 OF 9




D rrs

«©

POURED CONCRETE

REQUIRED —————

«®

[ﬂb F/6
POURED CONCRETE

REQURED ————
ASAOANANARNANANANNN \\\\\ \VAVANAN \\\\\7//\\\\\\\\\\\\\\ SOOAOA N IANANAANANANNNMWVANNANN
[/ \\ //
®+@ /, < ®+©
ORED._ | / X RED_ |
lf \‘ // N // @ o @
REQUIRED ] = /
AT MIDSPAN AT [ @ REQUIRED REQUIRED +
SIDES (SEE ] AT MIDSPAN AT e U4 REQUIRED
SCHEDULE FOR _| ] SIDES (SEE SCHEDULE e FoR
REQUIREMENTS) ! - FOR REQUIREMENTS) REQUIREMENTS) | AT MIDSFAN AT o
A SEE DETAL 376 = TSFE ScHEDULE SEE_DETAL 376 —. o ) / SIDES (SEE J
g 7 “FOR REQUIRE M_EN'_TS)7 AN 2 7 : < gf.gﬁ%’é‘fg’;?s’; 8
AL / / R N g AL AT 3
[ 2 " ]
T o [‘ / / ‘ ) \\ E 6 ] “ ’ o \ B (l:
e { / RO 4 8 TN s g 4
G/6 - =—( ™~ G/6 | /6 T G/6 )
A < . e o
7 ] 2 2
/[ & T
7 L 9
/ /
N
$ 7 / S N 3
/L
/
/ /
A 7 f
/AR BT/ .
-5___.__./_\__. ": o b______{?“-—f-i:—:.—;—;—;—;—:_-;—:—;_—\\ L ,L./l
t i —
TTTTA7 77777 //é)/ /177771777777 JTT77 7877777777 777777X77
+ NOTCH 2 1/2" WIDE x 2 7/8" HiGH
F, : *
[lb /6 OR @D 3* LEG OF ANGLE Q) AT EACH INTERIOR SEE DETAL 1 W F/6 or @%
W (SEE SCHEDULE) W (SEE SCHEDULE) W (SEE SCHEDULE) W (SEE SCHEDULE)
UNLIMITED WIDTH

(4) 3/16" ¢ Alum.
POP RIVETS TOR/BOTTOM
FRONT/REAR

MULTIPLE UNIT

(F10x 1 1/2° SMS. ron@

ox Q)

ELEVATIONS

N T S

e e i et o e = e o ]

/ (DF10 x 3" SMS.
W/ WASHER

WEB NOTCHED

W,
Z@ TO/ 1.160" DEPTH

TO PENETRATE INTO
HEAD AND SILL.

Trp. TOP & BOTTOM.

DETAIL 1

SCALE : 1/2" = 1

" #-20 SIDE WALK
0 12° oc.

4
éL 7S INTO RIVNUTS EA,

(1)F10x 1 1/2" SM.S.

x 1"

TYPICAL AT
EACH CORNER.

(1)#10 x 3/4" 5.M5.
=l
| (®H+©®

OorR GD

(1)H10 x 3/4" SMS

SINGLE UNIT

F.B.C.(High Welocity Hurricane &one)

THLIT
6355 N.W.

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER|  prawn BY:
ASSA/EXTRUDED BERTHA BAHAMA SHUTTER S.M.
IILlECOmc. 273708
TESTING & ENGINEERING COMPANY M-——_T'
361, St, Ste. 305, VIRGIMA GARDENS, FLORIDA 33166) - ETAL EEH IN:.
Phone ; (305)871-1330 . Fox ; (305)871-1531 EST.1987 7835 W. s:conn CT. HIALEAH, FL 33014 06-013
Al TEREB—%OOGTng P. E. ﬂW‘mn DRAWING No
WALTER A. TLLIT &r, P. E.
FLORIDA Lic. # 44167 Ry Ko m ;;/’2‘ m}* DSCRPION are
; = = =
© 2004 THTECO INC. p = - - - —— SHEET 5 OF 9




POURED CONCRETE

REQUIRED

TAPCON ANCHORS N

(SEE_SCHEDULE D

SHEET 8

EXISTING
GLASS

oF 9)
3/4 [

\

D Cont,

F Cont.

Cont,

SEE_SCHEDULE ON
SHEET 9 OF 9 FOR__|

MIN. SEPARATION
10 GLASS

A

\-@ oR @ Cont,

V

| j¢#” #-20 Fiwur o

I 2% r/4 R’L-Lzo
X

|LENG7H LOCA]E‘ ALWAYS
AT LEAST TWO BOLTS 1"

|AT EACH SIDE OF INTERIOR|
| MULLION. SEE ELEVATION
ON SHEET 5 OF 9 FOR
| BoLT LAYOUT).

]

| T
: Cont,

[

N =1

/—@ Cant,

Cont.

iy

1 1/2

7 I/ e

POURED
CONCRETE
REQUIRED

|

HORS I+

SeE RS L
SHEET 9 OF 9)

L

SECTION F - F

HURRICANE PQSITION
SCALE: 3/8”" = 1”

£ D, //I

(TRAPPED MOUNT)

—© 0r G

(Jé 1/} 77320 x; S.S.
M.S. W, x 3/32"
WING NUT @ 3"

VERTICALLY W, 1/2 EBGE
DISTANCE TOP & BOTTOM
{Typ. AT EACH BRACKET)

N

3/4"

C:\f
% ©
L

£

SECTION G — G

(TRAPPED MOUNT)
HURRICANE POSITION
SCALE: 3/8” = 17

\\\\\\\\\\E\V

NOTE:

E. D =3 1/2" Min.

£ D

”WM-* T

G)OR G

(3) CALK-IN ANCHORS
(SEE_SCHEDULE OGN
SHEET 9 OF 9)

POURED CONCRETE
OR CONCRETE BLOCK
Y REQUIRED

/ /a:u.,

)
1/2"

N I PY)

(3) CALK—IN ANCHORS
(Typ. EA. BRACKET)

1/2°

(DF10 x 1 1/2° S.MS.
/0. EA. BRACKET)

---------- Ry 7
I L

. (3) CALK~IN ANCHORS
i (Typ. EA. BRACKET)

(3) 1/4" 8-20 x 2" 5. 5.
M S W z{a" x J/Jz
WING NOT

DISTANCE TO\

=___:_/\/_--j| :/ :

DETAIL 3 TRAPPED

SCALE : 1/2" = 1"

F.B.C.(High ¥eiocity Hurricane &Zone)

/TLIECOme. \

TILLIT TESTING & ENGINEERING COMPANY
6355 N.W. J6th, Si, Ste. 305, VIRGMA GARDENS, FLORIDA 33166
Phona : (J05)871-1530 . Fox : (Jaa)an -1331
EB~Q006719
WALTER A. TILLIT Jr., P. E

FLORIDA Lic. # 44167

© 2004 TILTECO INC.

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN B8Y:
ASSA/EXTRUDED BERTHA BAHAMA SHUTIER S.M.
' 2/2/06
. ETALIELCH, ixc.
EST.1957FMN;635 w. s(z;on;?s)cr H-I-ALEN'! FL 33014 05__0 13
) DESCHPTION DATE m No DESCRPTION DATE DRAWING No
! op g8-dos  Jzeal 3 Z —— sHEET 6 OF 9
2 It - 4 - -




1/4 @ LAG SCREWS © 6" O. C.

W 1 1/2" Min, THREADED
PENET/?AﬂON TO EXISTING
WOoD Hi

AN

B Cont,

/2"

F Cont,

E E Cont.
% 4

]) or @ Cont.

WOOD HEADER REQUIRED

L 1/4" 3—-20 THUMB SCREW

1/4" #-20 BOLT W/NUT
(2) 1/4" @ LAG SCREW

@ O EACH JAMB &
MULLION 'LOCATION

EXISTING GLASS

A by
ZiIBN 1/4" # LAG SCREWS @ 6" 0. C. ' -
W 1 1/2" Min. THREADED ‘ .
PENETRATION TD EXISTING .
WOOD MEADER.
Cont.
- ‘N B / x
Y70 Q
L/ - F) Cont. 7
4 ' % .
1
£ = _g: ’
.= _/@ Cont. .: i
Ny o .
I '\4.' (':._ o ,,“"M‘...
g /4 e J
/ 1 3/18"
WOOD HEADER WOOD HEADER
REQUIRED REQUIRED
_\ EX’SSZNG
(1) or (J) cont. RN
SEE SCHEDULE
ON' SHEET 9 OF 9 SEE SCHEDULE
—~1" "FOR MIN. | onsHEETS OF 9
SEPARATION FOR MIN, SEPARATION
70 GLASS 70 GLASS

Mox. SPAN L™

1/4" 8 LAG SCREWS ® 67 0. C.
W 1 1/2° Min. THREADED
PENETRATION TO EXISTING
WOOD HEADER

C Cont.

Cont.

. Cont.

“\@ OR @ Cont.

SPAN L™

Mo,

A4,

)

(DF10 x 1 1/2" SMS.

EQ FQ

-
Ly

[

OR GD

Cont. Cont.

1" x 1" x 125" Cont.
™ Alum. CLOSURE ANGLE
(6063~T6 ALLOY) W/
3/16° # Alum. POP
RIVET @ 12" O.C.

70 @ OR €D

woop stp AT EACH STUD (MIDWIDTH OF STUD,
@ 24" 0. G 2% Min. NOMINAL) AND W/ 1 1/2" Min.
REQUIRED

STUD.
NE P
SCALE: 3/8" = 1”

‘r EXISTING GLASS
[ I__L:l:] A Cont.

&
=
L)
lr “’
-~ i AR®)
L \ \
> ©
K ] (L) o £acr siue &
4" 9-20 MULLION LOCATION
2 k- THUMB SCREW
Y L1 1/4" #~20 BOLT W/NUT
gogg_sgll% (2) 1/4" # LAG SCREW
RECLIRED AT EACH STUD (MIDWIDTH OF STUD,

2" Min. NOMINAL) AND W/ 1 1/2° Min.

IS'HREADED PENETRATION INTO EXISTING

THREADED PENETRATION INTO EXISTING

: (74 m.p.h. OR LESS WIND SPEED)

(2) 3/16" # Alum.
POP RIVETS

x(s}[w x11/2°S M. S
3) 1/4" 6-20 ELCO male fernole
% s /

\® Cont.

-

EQ EQ

ANELMATE W/ 1
PENETRATION AT MIDWIDTH -
OF EXISTING WOOD PLATE

&TL lT

/ ‘:,\\\-— (3) 1/4* 0-20 ELCO / S

" 4" ho’ mote/femole PANELMATE " 4" b

0 PLATE J W/ 1 7/8" MINIMUM PLATE .

REQUIRED' u PENETRATION AT MIDWIDTH REQUIRED' O

b OF EXISTING WOOD PLATE -

" / h b

\ '. o \ \A'. )
ALTERNATIVE 1 ALTERNATIVE 2

HURRICANE POSITION
SCALE: 3/8° =

711

7n

HURRICANE POSITION
SCALE: 3/8" =

WALL MOUNTING INSTALLATION & BUILD—-OUT

SECTION A

INSTALLATION DETAILS ON EXISTING WQQOD BUILDINGS

NOTES :
1. INSTALLATIONS

LESS OR EQUAL THAN +62.0,

ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN. WIND LOADS
~75.0 p.s.f. AND Max. SHUTTER SPAN AS

PER SC‘HEDULES ON SHEET 9 OF 9.

2. NEW 2" x 6"

7. TO BE SOUTHERN FINE No. 2, SURFACED DRY WITH

19 % M. M. C W/ SPECIFIC DENSITY OF 0.55,
3. FOR_NEW WOOD FRAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN

PINE No.

2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

ALTERNATE NON HURRICANE POSITION DETAIL
SCALE: 3/8” =

7"

1/4" lLAGSCREWSOG 0. C.
W 1 1/2" Min. THREADED

PENETH
wooD

TION TO EXISTING
HEADER,

2% x 3" x .125" Cont

EXISTING

GLASS
N\

-

[74 x /4"

3 3/16"

WOOD HEADER
REQUIRED

SEE SCHEDULE
ON SHEET @ OF 9
FOR MIN. SEPARATION
TQ GLASS

=
— : i .
Rl R [ [

BgL INTO

RIVNUTS EA

3% Max, x

ALTERNATIVE 3

HURRICANE POSITION
SCALE: 3/8" = 1"

Alum. TUBE
= (6063~T6 ALLOY)

. M. S. @ 8”0 C

(3)#10 x 1 172" S. M. S.

125" Cont. Alum.
CLOSURE ANGLE (608316 ALLOY)

el
. BT
I_ W/ 3716% @ Alym. POP RIVETS
L ; \ ¢ 12" 0. TO@OR @D
. * £-20 x 1" SIDE WALK
1/4" 6-20

4 / o
D PLATE ] !
REQUIRED .
» 8 2¢~ X - 3 R » .
E B. 0. TUBE (8083-T6 ALLOY)
K 1/4" @ LAG SCREWS @ 6" 0. C.

> W/ 1 1/2" Min. THREADED

125" Cont Alum

1 PENETRATION TO EXISTING Wo0D
PLATE,

F.B.C.(High Veiocity Hurricane &one)

/TiLlECOome \

TILLIT TESTING & ENGINEERING COMFPANY
6355 NW. J6th. St, Sle. 305, VIRGIMA GARDENS, FLORIDA 13
Phana : (305)871-1530 . Fox : (305)871-1831
EB—-0006719
WALTER A. TILLIT Jr., P. E.
FLORIDA Lic. # 44167

@ 2004 TLIECO INC.

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN BY:
ASSA/EXTRUDED BERTHA BAHAMA SHUTTER S.M
2/2/06
DATE
: METAL]EEH. INL.
EST. 1957 743% wW. SECO;?a)CT HIALEAM, FL 33014 06‘-0 73
o W e o wim|  DRAWING No
. QD 8- JHA = Z = sHEET 7 OF 9




ANNN

pd

WOOD HEADER

1
2* Min \ : /-@ Cant,
H}

REQUIRED

e

1/4" @ LAG
SCREWS @ 6" 0. C.
W/ 1 1/2" Min.
THREADED PENETRATION|

JovsueEr 9 oF 9
FOR MIN. SEPARATIO

SEE SCHEDULE

TO GLASS

SPAN L™

Max.

Cont.

I

1/4" @ LAG

SCREWS @ 6" 0. C.

W/ 1 1/2" Min,

1/4" 8-20 RIVNUT @ 9" 0. C.
W/ 1/4" 8-20 x 2" 5. S. M. S.

AT LEAST TWO BOLTS 1™ AT EACH

\ /‘_ FULL LENGTH (LOCATE ALWAYS'

SIDE OF INTERIOR MULLION. SEE
ELEVATION ON SHEET 5 OF 9 FOR
BOLT LAYOUT)

v 2" x 6" WOOD DECK

REQUIRED

THREADED PENETRATION.

ALTERNATIVE 4A

W00D TRUSSES OR RAFTER
© 24° 0. C. REQUIRED

*\
_,’———3(‘—*—"’——\

|—SEE _SCHEDULE ON SHEET:
9 OF 89 FOR MINIMUM
SEPARATION TO GLASS

=
- 3/4 Yen
£ il W LS
‘F!!!u

= _—® Cont.
——© o

SPAN 1™

MaX.

14

""I \ 4 @ LAG

—@ Cont.

2" x 4" WOOD STUDS
@ CORNER ]

(6063-T5 ALLOY) W/
(2) 5/16" 6 LhG
SCREWS TO EACH JOIST.
LOCATE SCREW AT
MIDWIDTH OF EXISTING

REQUIRED —
(Tvp.) ™~
£ 1/4" 8 ELCO female L
ANELMATE W/ 1 7/3" Min
THREADED. PENETRAFION
3/16" 6 POP RIVET @ .
8" 0. C. {1 PER BLADE) 2% Min-y
. . @ REAR ONLY N
5" x 3/16" Min,
Alurn.  PLATE Cont, CR @ /;/>
.——-————“——“_-_‘_—-_-—

WOOD MEMBER (2“ Min.
NOMINAL WIDTH) W/
2“ Min. THREADED
PENETRATION.

# 10
. M.

OR@

510 Bord
F10x1 1452'
™ S@%R@ '

SECTION A—-A

SCALE

1/4" @-20 RIYNUT 6 9" O.

(WALL MOUNT)
/47 = 1”

<.

W/ 1/4" 8-20 x 2" 5. S. M. S.

FULL LENGTH (LOCATE ALWAYS
AT LEAST TWO BOLTS 1" AT EACH
[~ SIDE OF INTERIOR MULLION. SEE

ELEVATION ON SHEET 5 OF 9
BOLT LAYQUT)

2" x 6" wWooD DECK

:— REQUIRED

/-— EDGE DISTANCE IF APPLICABLE.

CREWS@E 0. C

W/ 1 1/2" Min.

THREADED PENETRATION.

ALTERNATIVE 4B

FLOOR/CEILING MOUNTING INSTALLATION

SECTION A

SCALE:

1 /4% = 17

NOTES :

PER SCHEDULES ON SHEET 9 OF 9.

. NEW 2

19 X M M C W
J. FOR NEW wooD

1. INSTALLATIONS ARE ONLY VALID FOR INSTALLATIONS WITH DESIGN WIND LOADS
LESS OR EQUAL THAN +62.0, —75.0 p.s.f. AND Max. SHUTTER SPAN AS

x &" P. T. TO BE SOUTHERN PINE No. 2, SURFACED DRY WITH

SPECIFIC DENSITY OF 0.55.
RAME CONSTRUCTION: WOOD MEMBERS TO BE SOUTHERN
PINE No. 2, W/ SPECIFIC DENSITY OF 0.55 OR EQUAL.

x 4" WooD

FOR (Typ.)

(3) 1/¢" 9-20 x 2"
M S W 7/8" x 3/32
WING NUT @ 3" 0,

VERTICALLY W/ 1/2" EDGE

DISTANCE TOP & BOTTOM
(Typ. AT EACH BRACKET)

) 1/4” @ ELCO female

PANELMATE w/

1 7/8" Min.

THREADED PENETRATION.

R———————

%i/&?(—

-3/4" 3

(3) 1/47 #~20 RIVNUTS W/
(3) 1/4 #-20 x 1 1/2° S, S,
@ 3" 0. C. VERTICALLY
/ 1/2 EDGE DISTANCE
OR (2) [10 x 1 1/2"
S. .M. S. TOP & BOTIOM
(Typ. AT EACH BRACKET)

STUDS
REOUIRE D @ CORNER

(3) 1/4" ¢ ELCO female
PANELMATE W/
THREADED PENETRATION.

16" @ POP RIVET @
"0. C. (1 PER BLADE)
© REAR ONLY

SECTION G-G

(FLOOR/CEILING MOUNT)

SCALE :

INSTALLATION DETAILS ON_EXISTING WQOD BUILDINGS

1/47 = 1”7

x NS —
REOUIRED @ CORNER |
(Typ.)

4" woop STU

t 7/8" Min.

2" Min:

# 14 x 3/4° 5. S,
S.MS @

fleI 7/2

% CDOR@
SECTION B—-B

SCALE .

(WALL MOUNT)
/47 = 1”7

@390 C

2" x 3 3/16" (Max.)
x 1/8" CLOSURE
Alum. ANGLE (Cont.)

(3) 1/4" 8-20 RVNUTS W/

3

L) C. VERTICALLY
W/ 7/2 EDGE DISTANCE
OR (3) #10 x 1 1/2"

S. M. S ToP & BoOTTom

(Typ. AT EACH BRACKET)

FRODUCT REY

F.B.C.(High Veiocity Murricane &one)

/TLIECO me \

TILLIT TESTING & ENGINEERING caMPANY
6355 NW. 36t St, Ste. 305, VIRGIMA GARDENS. FLORWA 13
FPhone : (J05)871~1530 . Fox ; (305)871-1531
EB-Q006719
WALTER A. TILLIT Jr., P. E.
FLORIDA Lic. # 44167

© 2004 TILTECO INC.

1/4 a—za x 1 1/2°°s, S.

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN BY:
ASSA/EXTRUDED BERTHA BAHAMA SHUTTER SM.
: 2/2/06
DATE
: IWETALIEEH. INC.
EST.195-: 7‘e:s;sw _S(EM?';%)CT' H::::H. FL 33014 06—013
v, o e T N T == DRAWING No
- GRS T L7 L) - - =] sHeer s oF 9
2 = = 7




SCHEDULE # 1
MAXIMUM SINGLE

UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

SINGLE UNIT ELEVATION
CASE | @ WALL + WALL MOUNT CASE 1! : TRAPPED TOP/BOTTOM
OR TRAPPED AT SIDES + SIDES (SHEET 6 OF 9)
(SHEET 3 OF 8)
BAHAMA SIDE BRACKET = SIDE BRACKET %g
SHUTTER M) =~ | P (Tvp-2 — 1
TYPE ALTERNATE S/DE N 7{% Q
BRACKET T ‘}
le— —| ]
DESIGN " »
PRESSURE MAXIMUM SPAN "L (IN)
RATING (p-s.£) | waxmum unit
MINIMUM SEPARATION
AND CASE # WIDTH "W* (IN) W/0 SIDE BRACKET | W/ SIDE BRACKET |70 a4l (IN)
CASES | & Il
+56.0 , —63.0 42" 52" N/A 3 1/8”
CASES | & |1 .
+75.0 , —-100.0 42" N/A 96" 2 1/8”

SCHEDULE # 2

SCHEDULE # 1A

MAXIMUM MULTIPLE UNIT FOR A CORRESPONDING DESIGN PRESSURE AND MOUNTING TYPE

CASE /¢ gALL + WALL MOUNT

MULTIPLE UNIT ELEVATION CASE I} : TRAPPED TOR/BOTTOM
R TRAPPED AT SIDES + SIDES (SHEET 6 OF 9)

(SHEET 3 OF 9) y
@) or G| § @ or @\gg =
SDE BRACKET | SIDE GRACKET ==
BAHAMA ) ——_ |, } . ‘ == l
SHUTTER E === Nf Nf
ALTERNATE SIDE N 3‘[7 N
TYPE BRACKET T 4k E T
EL =
NI I-7'ED W_-‘:i Ir‘jL;;‘l,‘\lLIM/?’.‘_'D —e]
I-_UU’L‘- MﬁN’TS f_—l OF UNITS f
DESIGN MAXIMUM SPAN "L” (IN)
PRESSURE
RATING (p.s-f.) | maximum UNIT INTERIOR MULLION  |MINIMUM SEPARATION
AND CASE # wiDTH "w” (i) | W/0 SIDE BRACKET | W/ SIDE BRACKET TYPE REQUIRED TO GLASS (IN)
CASE | ,
+50.0 , —43.3 36 1/2" 72 12" N/A Al 2 1/2”
CASE |
+62.0 , =750 36 1/2” N/A 83" A2 2 3/8”
CASE 1l .
+62.0 , ~75.0 38 1/2” N/A 84" A2 2 3/8”"

LIMITATIONS FOR SINGLE AND MULTIPLE UNITS BAHAMA SHUTTER’S UNIT WIDTH (IN), SPAN L (IN) AND

CORRESPONDING MAXIMUM DESIGN PRESSURE (p.s.f.). FOR THE INSTALLATION OF SIDE & SILL BRACKETS

INTO CONCRETE & MASONRY BUILDINGS BY MEANS OF (3) 1/4” & x 7/8" CALK—IN ANCHORS *

MAXIMUM NEGATIVE

SINGLE UNITS

MULTIPLE UNITS

DESIGN PRESSURE

SIDE & SILL BRACKETS **

SIDE & SILL BRACKETS **

RATING (] p.s. f_) TO CONCRETE TO BLOCK TO CONCRETE TO BLOCK
Max. "W~ Mox. "L” Max. “W” Max. L” Max. "W" Max. "L” Max. "W~ Max. "L”
~55.7 42~ 98" 427 96~ 36 172" 84" 36" 84~
. , 36" 72"
—65.0 42 ’ " ” ” ”
96 42 96 38 1/2 84 377 84"
” " . 36 1/27 862"
-75.0 42 " 7 ” "
96 42 96 38 1/2 83 27" 83"
-83.0 427 96" 427 96”7 N/A N/A N/A N/A
» ” 42" &
—-100.0 42 96 36" 7; N/A N/A N/A N/A

Xk

FOR ELCO PANELMATES ((3) 1/4" # W/ 1 7/8” PENETRATION) USED AT SILL & SIDE BRACKETS FOR INSTALLATIONS INTO WOOD. SEE SCHEDULES # 1 & # 1A FOR SHUTTER SIZE.
IN ANY CASE, MAXIMUM "W” & "L" VALUES W/ CORRESPONDING DESIGN LOADS SHALL NOT EXCEED MAXIMUM VALUES INDICATED ON SCHEDULES # 1 & 1A.

SCHEDULE # 3
MAXIMUM ANCHOR SPACING AT TOP FEMALE HINGES B, ©, OR @ AS
WELL AS SILL ANGLE @ AT BOTTOM (AS APPLICABLE) FOR INSTALLATIONS
INTO POURED CONCRETE HEADERS AND SILL ***

DESIGN PRESSURE SINGLE & MULTIPLE UNITS

RATING (p. s. f.)

TOP & BOTTOM TO CONCRETE

ALL PRESSURES COVERED

IN SCHEDULE # 1 & # 1A 9”7 0.C. TOP & 77 0.C. BOTTOM.

XKk SEE SHEETS 7 & 8 OF 9 FOR ANCHOR SPACING FOR INSTALLATIONS INTO WOOD FRAME BUILDINGS.

F.B.C.(High Veiocity Hurricane Zone)

MAXIMUM IMPACT EXTRUDED BAHAMA SHUTTER DRAWN BY:
/ —I—-—|———— \ ASSA/EXTRUDED BERTHA BAHAMA SHUTTER S.M.
<D : 2/2/06
TS ~ TILLIT rs!rlln-c .:Es;vSm?m:a"cz;Pmr M Ii: DaTE
— T R X TR ETALIECH, e,
1/79 [ 0006710 EST.1987 7938 W S g ' 06-013
WALTER A TLLIT Jr., P. E. LHONE: -‘;“,:_”‘—L’ﬂ‘::; 0230201008 s DRAWING No
’ FLORIDA Lic. F 44167 ALY, N aﬁm - 3 DESCRIP!
] /2/“ - -
© 2004 FLTECO INC. r - - ~ — — SHEET 9 OF 9




